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Reminder

= We use the Kernel Density to get the pdf to simulate 50M events for each sample.
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Initial parameters

= Template size : 1000000 (for each p and 7 samples).
= Each toy: 10000 (for each y and 7 samples).

= Because of this obviously: R(AZ) =1

= Fits are done in 3-dim: M2, ESM, 7>

= The number of bins: 10, 10, 4 (ad hoc).

E, ¢ M s
, — .

3 el st e
o5y Res_Kinomalics

Marcin Chrzaszcz (Universitét Ziiri Fitter update



Results 1

= If | use a binned template to generate histograms:

(Fit_RLest-1.0)/Fit_RLcst_err

hist

Entries
Mean
RAMS
2/ naf
Constant

Sigma

2000
-0.02562
0.9891
41.69/57
79.54+222

Mean  -0.02272%0.02278
0.9876 +0.0168

7

3

g

(Nmu-10000.0)/Nmu_err

hist
Entries 2000
Mean 002196
RMS 0991
%2/ ndt 43.87/59
Constant 80.21£2.24
Mean 001554 +0.02231
Sigma 0.9751+0.0163
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Results 2

= If | use a kernel density pdf to generate toys:

(Fit_RLest-1.0)/Fit_RLcst_err (Nmu-10000.0)/Nmu_err
hist hist
Entries 1829 b Entries 1629
Mean 0.09665 E Mean -0.09853
RMS 0.994 2E RMS 0.9999
%2/ ndf 49.39/59 E ¥/ ndf 61/59
Constant 72.45+2.13 E Constant 7242£212
Mean  0.1114 +0.0237 soL- Mean  -0.09475 + 0.02346
Sigma 0.9843 + 0.0176 50 E Sigma 0.9758 + 0.0169
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Conclusions

= So fit works!
= The observed bias can be because of three things:

® The bins are biasing the results (will study different binning options and observed
diff).

® Technicality: Because of the stupid HistFactory structure | am supplying the
data in a different way. This | can change now.

® The kernel density generation introduces a bias (hope now as | don't want to
debug the internal scipy library).

= | wrote this quite efficiently: 3k events < 5 min.
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